1.

th-& 3t -8 AABC 7} 9Tt AB =
20cm 22l & o, x o] do]=9

D 8V3cm @ 9+3cm
@10 V3em @ 11vV3cm

® 12vV3cm

BC = 20cm©]1/CBD = 60°°| 2. &

V3

x =20 X sin60° = 20 X —= = 10 V3(cm)




>
> e 120cm?

APAO = APBO,
(A =90° o|B &
PA = V172 -82 = 15(cm)

APAO = 15X 8 X % = 60(cm?)

- OPBOA = 60 x 2 = 120( cm?)




th2 18 9A /B = 60°, AB = 16cm, BC = A
12cm, AE = 9cm ¢ o, DF 9] Zol&? (4,
A D,E,F & HH)

® 4v3ecm @ 5cm ® 5v2cm
@7cm ® 8+v2cm

B ~

BF = BDo|22 ABFD X AArz+&o|t},
o3 1A




4.

th IR o] 9 0 o #J3dsh= FHATE ABCD o4 AD =
8cm , BC = 18cm & W, ¢ O 9] ¥EA]59] Hol=?

A -8m.p

® 3cm @ 4cm ® 5cm @6(:111 ® 7cm

B \

AB + CD =8 4 18 = 26(cm)
ODABCD & S¥AITE|&o|B2 AB = CD
- AB = 13(cm)

A-8m-p

x

\
\

(0]

[l 1
B=~< ) - C
-18cm---~

4 A o4 BC o] Wel 4-49] 22 E 2} sl

1
X = 12)(5 = 6(cm)




ohe T804 AB = 9 0 9] 2|Z0]1, ,COD = 48° ¢ ufj, ,CPD
o] 37]& st

@® 60° @ 62° ® 64° @)66° ® 68°

ASID Eo0joH ACAD:%X48°=24°

/ADB = /ADP = 90°
. /CPD =180°-90°—-24° = 66°




6. TS 29 90 oA 5.0ptCB = 9] Eeflo] Zo]o] B ujelZ]
Fs}olat.

LCAB = 130°-50°=80°

/COB = 2/CAB = 160°
~ = 160°

5.0ptCB = ¥2] =99

360 °

=5 ()




7. TS ™o A oABCD 7} Yo AT uj, A
(BDC 9] 27]=?

@ 50° @ 55° @60° @ 65° ® 70°

/BDC = /BAC = 60°(~- 5.0ptBC 9] 977}




8.

the T P =35°, /Q=25°Y
o], /ABC 9] A7]=?

® 53° @ 57° @60°
@ 63° ® 67°

B

/ABC = x 2} 5}'H, ZADQ = x

/DAQ = x +35° (AZd 9] ¢17)
AQAD oA x 4 25°+ (x4 35°) = 180°
L x=60°




o2 I3 Zol ¥ O o WHst= 27t
3 ABCDE °f|A /ABC = 100°, /CDE =
125° 0|1, AO = 6cm € o, Z30&E AOE
o] Yo|&?

® nem? @ 4ncm? @ 6rem?
@9ﬂcm2 ® 1lmem?

B \
H%A BE £ 1o WHst= A A

Z+g oA (CBE = 55° o|B&
/ABE = 45° o]t} 5.0ptAE ©|
%47 /AOE = 2/ABE = 90°
oltt. mEtA RAE AOE 2 |

o] § = ax62x = 97(cm?)

360°




10. o= A AB,C,D7Fet 9 floll A& W, 2x + 2y 9] 27|17

A 30°

@ 90° @ 1000 @10 @ © 130

B

(DAC = /DBC = 30° 0|22 A}Ztg-2 of yHstct.
/BAC = /BDC =x

x = 180° — (60° 4 75°) = 45°

(DAC = /DBC = 30° 0|22

(BAD = 75° = 1y

L Lx 4 Ly =120°




S

64
255
68
255

@)

63
255
67
255

BC =
tan CsinC

V225 =15

3

_ 4_%
© N

o

= I

Voo_N

Il %

N

T °l8

~ Il

b~

—

>




ne
12. 30°<A<90° ¥ o, (SinA + 5) - /(sin30° —sinA)? ©] ZH-&
-5HH?

1
@ 2sinA @ 2 ® isinA

@1 ® 0
B ~

1
sin A + 5 >0,sin30°—sind <0 °]|2&

N2
<sinA 4 5) — 4/(sin30° —sin A)?

1
=gsinA + 3 + sin 30° — sin A




13. o3 AZH|9] E X 1 5in 49° + tan 30° — cos 48° 2] 4 -olof =t

Zte | ARRl(sin) | ZARl(cos) | EHHIE (tan)
30° 0.6293 0.7771 0.8098
40° 0.6428 0.7660 0.8391
41° 0.6561 0.7547 0.8693
4 0.6691 0.7431 0.9004
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> HEH: 0.8954

sin49° = cos (90° — 49 °) = cos 41°,
cos 48° = sin (90° — 48°) = sin 42°
(Z4]) = 0.7547 + 0.8098 — 0.6691 = 0.8954
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